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Example Candidate Responses — Paper 2

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge AS & A Level Law 9084, and to
show how different levels of candidates’ performance (high, middle and low) relate to the subject’s curriculum and
assessment objectives.

In this booklet candidate responses have been chosen from June 2018 scripts to exemplify a range of answers.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. There is also a list of common mistakes candidates made in their answers for each question.

This document provides illustrative examples of candidate work with examiner commentary. These help teachers
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some
circumstances, such as where exact answers are required, there will not be much comment.

The questions and mark schemes used here are available to download from the School Support Hub. These files are:

June 2018 Question Paper 22

June 2018 Paper 22 Mark Scheme

Past exam resources and other teacher support materials are available on the School Support Hub:

www.cambridgeinternational.org/support

Cambridge International AS & A Level Law 9084 4
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Example Candidate Responses — Paper 2

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in
the right-hand column are the examiner comments.

Example Candidate Response - high Examiner comments

Question  Part . 6 A good start. A brief definition of
- - ] ) misrepresentation, which is clear
Q1 ‘ MWWHWQQM’(%‘V\W \§ W2 (A (Avﬁ‘f\kf ﬁﬁ()ﬂ/\/\ (this is often better than a very
| of ot ndle 0 gy To_onfoy frks_4_coint one). This s ollowed by the main.
ThQ)[Q/ M. 3 r&()uu{m@mu .:B)__&Mb’\/\\._\(\,ﬂtf_ﬂ__%m,&w elements (_)f misrepresentation
I8 peHeralns o nisTeppienoniva. TS MowdeS | | wasing tme on unmecsseary
Hnok Mg aust ko R0 g SRodewior B sk matters.
5 0 Sukomlut o faok, and ho Qprement Wyl
hoNe ,[{\%@ e Py 30 ondel, - W& GIWAB: [ Examiner comments are N
N\ alongside the answers. These |-
Answers are by real candidates in exam conditions. explain where and why marks
These show you the types of answers for each level. were awarded. This helps you
Discuss and analyse the answers with your learners in to interpret the standard of
the classroom to improve their skills. Cambridge exams so you can
help your learners to refine
their exam technique.

o /

How the candidate could have improved their answer

This was an excellent response, which used a wide range of illustrative detail and sound definitions. Three maxims
were identified and explained, each remedy was explained with a relevant case, including the more recent Anton Pillar
and Mareva injunctions.

This section explains how the candidate could
have improved each answer. This helps you to
interpret the standard of Cambridge exams and
helps your learners to refine their exam technique.

Common mistakes candidates made in this question

Candidates who fared less well in this response often made the mistake of offering responses based on custom and
the Anglo Saxon system of law, rather than concentrating on the creation of Common Law and the way in which Equity
was formed to solve problems. Poorer responses also contained far too few example citations for the maxims and
particularly the remedies. Concepts such as trust, mortgages and deserted wives’ equity could also have been used.

Often candidates were not awarded Lists the common mistakes candidates made
marks because they misread or in answering each question. This will help your
misinterpreted the questions. learners to avoid these mistakes and give them

the best chance of achieving the available marks.
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Example Candidate Responses — Paper 2

Question 1

Example Candidate Response — high Examiner comments

Question

Part

j 9

o)

Jesome hos, \aeen_‘agﬁo\w,\a g}\}g_é,_e,&' bg Cﬂmc\a

ox\& S o bwra _ dRed QQ( n\_gs_&g_ﬂﬁ;:_.-
(R0 “\0&-_\?@@ &S }00‘3\ %enBan W W\ 1

bue dcks  (orseRoon N Yemme’s  mucder

Ral MM_MQA ask U\ oc

wWRnont ‘\\xu

$WL\3_‘&&¥%_J& SecRon MM usood__|
e ew‘efa °X e Mol 2= X «tease. Mg M_o.ne_
|slence - Jevome. s, e |
weded@ B\ prefoudly  beld gecmsiahle doc |
Jos \Qmwma howew N_uaeen o SerearE.
Magexel  Udes  =aM(H)B) &esg_»ﬁxx__‘ee &sgdes__c@-_

o (oee Ve

AN CPNQ“QL Komnﬁ

ﬁo& Qe

D\qme uitan q% \-me

380\ _an__deddRve, wheler

blveted i\ s O

—\m %%&;¥0&_&LA_\L3&__%9’€Q& Yo Jesres, |
Adal _SyooM \’ee, -

uitrout I PR R ]
Borund  Me Q&:&&g&iom_\&m\%& Aa w—\\&enomi!—'

mecdes RO Adche Mx\_—Ag.\L _-\cmpgﬁ__‘
Aave QLQ:.QQ cRn an

\L\@U\A

Ao cw(d) o N\ wos cpﬂae.& '\0 e

Q_(@»QLQQAOQ@ s

ey \a\\mﬁ\m ARy DM () pleos ¢

Jen

lenu(D). anee

albo werRe

Q’—__A'ISS_QL_NM_L

MM Q_Qoé__
wet o o Awal

NG LT SIS -\%\_g&e_a&em____“
-3 K} % e g

WS

Qg&g&m Setow
Seel

andintdated  Mhak  toliedies

s\

A’w@ﬁ Sennd  (andMWen S

aamcs) ek

aen %___gol?.ce

ewverol Ao (ordvch o AR} uRMhout

0 The candidate identifies the
part of the source material which
is relevant for this question.

e Link to the offence of murder
but does not specifically say it is
an indictable offence.

e The candidate accurately
references the relevant part of the
source material.

0 Here is a clear link to the
scenario facts.

e There is a clear link here to
the application by the prosecution
lawyer.

6 This is logical application of the
relevant subsections.

e Here is another reference to
the scenario.
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Example Candidate Responses — Paper 2

Example Candidate Response - high, continued Examiner comments

Question  Part

qossy o @mv@ \v%\*?ce -

J Y;\Je,r\ '\\\s&m{y\ ’\Vﬁe.__‘?aﬁ_m_._%g&&lﬁ
efdence - ad ’\%J&____..,.S_mjéa&mk oot \_&}«a_
Ao e c\m—\%n Qedercen). 8¢ mmon WY
Aot S\chm ordQare, o) o daol. \xﬁ%\f\
*’\\aa\» Qme_ . %\Lﬁ‘?&QXT\\\\ eRA0ed and Ve

ol Quellce A oy, - e - Aroud ke |
-Qr\ anmm m.&r '\\f‘e ‘bmSecu\—Qon wWege

“esore® - Aok A Condvded . uSiro o
‘\‘m d oo Veetave 3% usox W An @ Here the candidate has applied
e usare U L3000\ \ onee Mo (0edMye | | the law to the scenario facts and
' - reached a logical conclusion.
1aa_SecdBon A owe  Jalled Fe. Aok osh

= “)"‘3%‘3——‘45*—‘—\9—\3———‘%5——-—@%' @ The candidate has applied

the relevant case provided in the
source materials.

~ : : . Mark for (a) = 9 out of 10
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Example Candidate Responses — Paper 2

Example Candidate Response - high, continued Examiner comments

Question.  Part
1.1 T &sa)amaﬂm,« o8y _ decoevse o} |
d a5k %Qm(‘be& M neen h\meo_d 4N
SecMNan i o Ve CmamL -\ug-\r‘}ce
Ned D03, ¢

%‘x&\uﬂsme} oo ol A “é% Y @ The candidate accurately
(ontnced Yol Al selects the relevant part of the
iep ——&L \&ﬂ\( source material based on the

(\pr whese. ¢ Na —S\%\—A’ﬁ—\b— scenario facts.
oo T SieWes (oo e Rudoe
) vecL__,_ ke \Q’é u\g«eé th,\_ ' m The candidate is using (a) but

Aownge fovae Yo, ek does not comment on the fact
\::;3: , m Lk : \ !3 _\h % that Freddie is being tried for an
o _\:\ of ::\ \z,\bdeé VPQ@ & | indictable offence.

[Yaly N L) Yoz G
Y () Sodes. Mo MNe Qe %o\f\
ddescn Mre : poRen Mol he/dne 36 lovinged |
Ao &edhou gy Mo ook e e ég{e an
&;&& s " a\?ﬁ LD ond E=8) | @ There is an accurate link to the
SUEII D o vxok__ \\X‘““ _ﬂ\:e__‘__xo& Yo MRg2 | relevant law.
vol -\QXA,_(\_\)\QSSS’\__ &tewmﬁw(\ _hetnd the |
A}%GN\%G(\A—Q m«\»r om& BEX € Qve__m__ S

C!N*&u\‘" A 'RV ()).;qgc_@, SE{:i ,__Qa!__ilj .
: E%\M,@;\%\i\@ '\Wx\—.\o Q. “\?QL ' @The law is applied accurately to

@ Here is the application of (b).

Al ¢ :
Mx}_;___(&rkﬁby_e___sﬁ—\imk Q 0 odexr | | the scenario facts.
oneddo S dL*A_A-_____. o ess_\rmxe—i_

so_m\ -\'\ne‘ \QAQKQ &3 __g})mm 0‘\6 ot |

An -‘?«e&&?e s (.o.-&c-z, ‘\'\‘}(\,L_ LOGR,

ndveled and Lede  voms AA&QQ‘.\\_ ______:
(coieded o \}Mm«\k Aaut ¢ 1
Ao e buyon ol ony St erdorce. é @ some good application of the
T (2 ‘u&ﬁ_z E \ oo Q:)v\\ae scenario fapts to the law which
e ) \3\\, Sv NN ey osq__w_u‘" has been given.

cenleMonl) brsod  on e %:A_%j@c\‘?_s :
a¥ Sub A vee ot t:ted @B | | @ Here is some logical

T Ny "’Y\mm,w:\ dooo ARad Ved application.
| 1
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Example Candidate Responses — Paper 2

Example Candidate Response - high, continued

Examiner comments

Question  Part

Jocon  lomee & gust  Wae . Sedka  aod OF was
Iieed el s peor el Vo ogpank]
|boveves -i\‘o Awe (oo wwese s
u\A e ARal e, O RO o

-(g;. o ‘%m%i,_m @ The reference to Twomey is

T Cladedl, ok Bas. Bal Naas L&\X\:e not needed but it does not detract
; * 8 e e T from what is a good answer.
(o (radesed An  Swddes  Cue b Jesde

3L e sy doud ke &oﬁ(\-\g -c\:I_s&\MQ{IﬁA' (18]

@ This closing sentence is not a
clear conclusion.

o i

Mark for (b) = 9 out of 10

9 Cambridge International AS & A Level Law 9084



Example Candidate Responses — Paper 2

Example Candidate Response - high, continued Examiner comments

Question  Part

A QT \Lakﬂmx'i (a2e. SeciBon. MM en_i\(:%_ @Herethe candidate identifies
Leasaly \m'" (oqu;oA QA— A Cén&\‘ " one relevant and one irrelevant

u)acg Aol DOAN an Q—@!&_c\s_ area of law.
G\&— S A? é K |

os, ’\\5&\\
" Molpro s 3&&«» o Q.omsxé_ -\‘:}\mk () ‘
1 Yo m\o&% m&___(‘&a@ségm o SYMR)
%Sm,mi_ u&ion___;\f\.x_& A_&::J&g L\ﬁﬁ_
J(RCAL T W ANSSY Sulyeont esdlerce |
ol “U“,\, —\mv\me@(m Qr\ mg\gﬁ (QQQ(J,Q@(@ @ The ca_ndidate has sele_cted a
\kwe‘ '\\LM Mo Vad@ras | relevant piece of law and linked it
LeaM 3a, ? \\\’5"z§ '}ofv\pe QroL | to the scenario facts.
uld S’l“ﬂe’};ﬁh\ -np a\ doed ! dogs not U
seem Y0 \e  So¥edled Ml st omgestea)
Yod  anen dcuo and__%a %\«\&Céh,_w—os_\d_g
no Q““\"“ X° Yodapa's. M M‘) @The accurate part of the source
‘Du\% \?an atka__ 0. (ase emr\f\\b\e.de,e«_e_ material has been selected based
acfoddedRan _or  oMened  addptdofen | | on the scenario facts.
G&_Lm\« feszon ukm_ﬂs_k&el\%__\p_&;g;\\%’_
M _daben Yade Wi opBe
x@ Med@na‘s  (gre (?X\au\— RO Ane Julge
dsdexs o YR VR NN walQngy Sa:k?m__-
N M\sp&ic_q)_o.\g__mé___mx WAL &n 2 M Teme
= VN S CY SN IE UN Y '&\W :\‘9&_ @Here the candidate reaches
| SeodRen MW &kx__m-k__o_“& _uindah é a logical conclusion based on
e (ese. An  Meodd s \Qjﬁq the source material, although the
The  Cpandrok  foelRee b«:h.k@@% o\ reference to Twomey is not strictly
&__@@@\QQA_ W ked@ra’s del 30 @ Y | | necessary.
delosaiing)  dbne bosts an leh  the daol
Yoy Cor\&o:‘eé wn -BmU\Q.

@ There is some accurate
analysis of the scenario facts.

@ This is not a clear conclusion.

Mark for (c) = 7 out of 10
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Example Candidate Responses — Paper 2

Example Candidate Response - high, continued Examiner comments

Question.  Part

A 1A Eves s,k \_hecng__&ccg_s '\Q \QQ\?\\“Q M@ﬂq%
oy Bdesa Ao cosea_ An e (soun

(oxs Mot e oot and medo qed

alorvcos  Ades  NagBe . edles om e 7
ReRcMadn\e el Rre A\f‘e_%p.s‘k._j_ r_e_eﬁe_&eiég:\il_e_
ad Me \ﬁ&g_g____qop_\géaan

= _\c 9 ﬂé SO qd .
e W_\f:ﬁ e o Q“N& 3 QXMQ @ Reference to the relevant

sl < A mm%& Nt %ewm* \© * — | | statute governing jury selection.
—Q«s coln laxe Yo o Mo uee___ﬁe@ qd,e&"
Reeeond Mle i%_@pﬂe___:\hmggk e\echatol |
»KQQ&&&Q__A(\}\ Yondomly_ tdotex e pangde |
Mook Bee An MLQQL_&Q_QS& e ddak |
(ooeh Qs _Wﬂtx edon alocorlRaa el
§omtves, ¢ \aQP _kﬁc’&ge.xs ond |
Rs. q:u\oo&&e X L@&;@Q: _od &‘?Q@_gr\‘_‘
Cs\:-cl—v slaor QJ\A Lo_\(\\/\ mmmA becorsze 3\ |
I —\Ne_‘ﬁom@.d&(__:\ﬁ&_@m%e& vox Ve

otlseesr. Wouevex  Mwae ko so have
o soless 30 @\ vat be  olRaible Yo

&t o e gosy_exammple asgg&gg(\ lovu |

Icone aad % \o QMLU\\W@\E@, do | t& 3 @ Here is some accurate
post ok ﬂhe s I | evaluation of the selection
Mie ¢ —\s\.Q(@_ ore_erovdn oo U QA’—M\Q Ve process for juries, which is clearly

A\ on Yo b,\"“‘ Mo mo&adim\ Q_LAQDQL&__ linked to the question.
Coud_ \ot ‘M_“&%_)@_&Q_%B\S_A‘{QA_GL

e Bg»()\e Wae AN e \rmﬁﬁt Mee |
(ore . \IQ»(-RV‘Q& Wt wok  aWowed \wor belore |
s 8% goen | ea®d et ) 32 dhosfoned |
woed. v row  yhese  Yrege 3w o oot .

Jee -%.\H, (@old e Y Yo at : @ Relevant information linked
neioes O Comdrall  remds R % (alled to the question, as vetting can
_ \ impact on the composition of the
| | Addosue_and oo M« tamea _kee Yo | jury which has been selected.
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Example Candidate Responses — Paper 2

Example Candidate Response - high, continued Examiner comments

Question  Part

( Qoo . secoed \hmsm_u _&e&_&\%@dﬂn@‘(ﬂx‘
dode: Mo Ok "“\}____\@?peq\_ n Lﬂ%go
ond 3% ramern  fure MHale  wene o Yo
jesas e o Proiaus o¥endos - G\&EGUJD\%Q_'&_QOJS_
;\\Mu,QL\\e »ex\& Mg m \eord Ao e udede ‘
ek Wese 3 olsa  Nothag 63_&@4_@6 . abeals |

As\@ ve ok welR e Mok ‘!SQ!\ei‘\n ‘
M A

\oTSY. q. I @ These are accurate and
relevant case examples.

. B e»&\e« ve\-\%o; Are S04 . wot
be X&}&&QJ\NQ,@& S T
= (Rosecoi%n ac zc\@!)@me. k. {hadiere; o

m\s-\RQu\QLK '\uccu:_m Wole role~yoc
NLz U;&(\RK of_ Yot an cmuey ‘
- Yo \om ’\‘e@ wra___...;\wa od U

on\\eJ\n,rex ‘e %eommq/ apd Q(QPQ—\\;’;(QW/
MNa —\\ce_,_oéfm \%*XQ\' e . ubdle e n&_\,m:
il e udhol\e "\0 U\ s C @«&\M@A_&)ﬁmma
alnasen dn o)\ ‘a‘?m ey s Nrapan:s»l ikl
b (SN &&QAGA’ ond \,\Qv SGGA|. L ON_
Yoo\, Rexsan A f ‘)mgemf\%n %0\‘\
o)awkexmo e —tuwr or 3 Yober ol |
Untte b@@(&_qu___m___ne._—ﬂmm_hﬂem |
saoe ac elhdc  mirgsty. TTRs qﬁm.\n*h__
tho m«*‘%ess on_Gowal RM__-\O —SPea My aRe
-H\(c\\\m{»\ o= O\ 3a MQ‘Q\e_ Yo A
tho e od 5\ 3g @mﬂ deloe Wes ®(
rod depres. vo . Modna thewasd o Q;w)m@
m..@qgéﬁm\or Toeaf ac Jueogs- "W 3% ‘
S A%Q__Qw&e__\@g p@y@é‘%v\\ Qg Bﬁ\bcm :
ond 0\ Sesen” e bete the |
IFvcana__wese Nauex\ *\O he wver at
pidsaa he.&(ﬁcr wd e atlendoq ard

both at  dhem  wsese C\_Qsdwmaed Lo
i I
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Example Candidate Response - high, continued Examiner comments
Question  Part ] )
. e \UN @ D . ( @ The paragraph on challenge is
-I -“o 3 oy . SeolBn va R batal || accurate information which relates

| ‘o\;\ eLea,—Xo@o)L.__(Qoaﬁmmoﬁ_%om bse_ormadg | | 1©ME question.
oo quiy te: Mese A,.__:.\_?_\muc{\a__i o |
ohatlio naoe. - Alcke . s . d}— Rty | | €D The candidate does not make

and  NoSires, a\,\ Mo SJugy Suge o “sodd | | reference to any of the basic
e lifications relating to jur
| b s | quali g tojury
Nhade ‘—E@% ) O'OL . | selection.
e mnm\u oard ox QO J/,(omg
<°:\‘c \M\' V‘O)'\‘ng’ %QQO o lou ‘\"\GWQX*@——' @ Here is a comment relating
A Gn ke D&ﬂoke_ ‘\MA— \oecmws& -\*&‘Nrcms -} | back to the range of people
o5’ &m, e Some ases ars  thald available for jury selection.

: dos ey o) Jhere . the daogk ool
! bL \aegmi dre. e trosy  vow etdhes fhe
,@KWoA‘Pon Oc Adonce ond (a8 encldanadly

[deol . Joe Hem. An /.\\f‘ee(d@r\—\"e i

mwmwx—‘fa based atheve: '“ne_rrUﬂ %-agem“)s

R —

@ Although this is an interesting
area for discussion it is not
relevant to the issue of selection.

V- | A

. _ | Mark for (d) = 14 out of 20

Total mark awarded =
39 out of 50
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Example Candidate Responses — Paper 2

How the candidate could have improved their answer

* (a) The candidate could have been clearer in picking up that Jerome’s trial was for an indicatable offence.
» (b) The candidate could have linked their conclusion clearly to Section 46(4). It would have been helpful to have a
more definite conclusion.

* (c) The candidate could have linked clearly to Section 44(4) to support their application of the law to the scenario
facts in that Katrina’s trial with a jury was valid. They could also have referenced Section 44(3) to the effect that
the judge was right not to grant the prosecution lawyer’s application. It would also have been helpful to have a
more definite conclusion.

» (d) The candidate provides good detail on some aspects of jury selection, such as vetting and challenge, but they
did not cover the basic qualifications. There was some comment but it was not developed or wide ranging.

Cambridge International AS & A Level Law 9084 14



Example Candidate Responses — Paper 2

Example Candidate Response — middle Examiner comments

Question  Part
9 (o)) The Cane Shows a.  lefbecola .l MQ 2G5 |
6 b be tweo/ Sy rmervety . Soreoree  cerroley )
2ied o birobmy Hil S y;m" ago  buT
toan ax.?cu_&'ca}/ Y beeacre HY twao Smmeo!’

I o (/,,”w hool Levrr Ayeatiut 0 ‘ 0This candidate recaps the
facts, which is not necessary.

| Crienieca l _hobact -2405 2003 Siebrere.
Y Gt qeibine 4Gt t Hype s W&w’ @ The candidate selects a

of 2 yeal P fpresee ¥ “(M?eo HaZl | | relevant part of the source
| vy foransborte o a_mw(a/ /uu, /ﬁ’v(eu_,z. I material.

Moleccer fe " eane elyy St s
4 Loere 22l byioei?. Qs eeroloces, .
lewas — fax tovetol  be  Boret A Suslye
Mo luktd, of a reier @ e
| hetthoc s e Cane - Snbisfier Sehritie
(W oy (2) & in  Setees’ e of apbi- |
Cotee 5_V frwe Ectie. A  be Cwa!chcﬂ

tithot Y o dunes, B @ The candidate makes
7Z,¢W¢,7 Ao J,WK{W & e Cmé' S reference.to relevar)t sgbsections
'Ccuw_&' MQ_(/ bookeccZ Mo rl/ém/ s : butthe.re is no application to the
Aol ol = Aotienit /»a AN scenario facts.

|ao J/Ze//«_,uln e b ecerer Aalec @b eHere is a good point of

e Hie Case cg/’ R v Tosormey [2009) comparison to the relevant case in
titore  frereeoToiis attepsd Aol  apbrocks the source materials.

| Come _mnote b Ha dmive  te oty e SHI
Co frnsicol  The  cane  twbh e profeckio
0[ Mo fotooy  det—ife  erec /énug'( 71y
Uno apfectcl  agesiol e Gl o
oppet  hetet  aLA Ao i hao/ hol
M%&J foe . Ayéu_,u Gini  en Bren e
of Ccnmk«_a._( WOLCAA.CL ar f 2063

Qu/h s Y ﬂ Seenclony in o Caove 6 Here is a good summary of
Cene SLoe Axel eu\x/m 3 Sawes o Twomey in the candidate’s own
' ' ’ - | words.

e Applies the scenario facts
to the law and makes a valid

comment.
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Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued

Examiner comments

Question

Part

chase been  specciovedf  he  dige oy

I hoeessyy  froball  He Uy by

. potresid

|t Lo gk #

Y subdfy  fokrecton

$ of fu_,_jr'o\_ QY L4 Goen  Ogesl Feechor |

sy, by Subieibins Statech it o ol

|a el emoliy Seetivnsn 4eSTof: cbichorge of L1y
v | betase .9/' Servey_Fernpaiing e Jetmi ‘uwcy
- 7 . WV |94 ~
Cfmna,aycz i Cape Ay be :mw berd " cliclel|
mmol T T : S
by | e  &Le e /m Cory Ho a
- | elif el X fFoeelalii D “.‘&M, A ol
o Aol o v e - 27 o’ an 2
e évuvu. Oty /yza/.r coau,,,éma/ - e (/bmlqb
| Sewiniio - a dbe - bdiche .t Steds,  Hu
- Mo hrrey /LR/J B 9luv.._, R Lo¥go) 440”07’
|G —eniie b /’eea&c 0_/’ T e the  Creillnl)
ke /AL (/U?’L/ l& ol Mﬂ’*eq&a/ Lo /ZM éu,g_,q

Lt aler’. Biodie U @‘Duwmﬁz o

_Seney . beelonne Of - Anes vieng . The
Canel SabiShes ~J‘a£.:c..AJ H S e
Juge - wa/: inerileol).. el sée “aag S0
A AT erey fachnt g
Aice bo  f  omle e bool 5litinal
WE Hd  eleessl /f@u Jécé Sub section
@ Mol  gten a Cle,) oleiol
M 7%‘-&— ‘JU:?(. iy o) I"ZP(AMJ /A-L,
: 'ba'yl—{(/) he O M'wl.(ﬁ 0 %DMUQ
e w (b) P o ko o

Flee Grees DS e u._ak,(.c,k Ae K So

M;e);e,o - Y] (c) L esen /vm'vf‘!)t/) to-

e Here Twomey is linked to the
scenario facts.

@ This Section is not relevant in
this question.

Mark for (a) = 6 out of 10

9 This is a long paragraph
recapping the facts which does
not gain marks.

@ Here the candidate accurately
selects the relevant section from
the source material.

0 The candidate does not
separate out the subsections into
(a) and (b).

@ Here is some application of the
scenario facts.

@ This is accurate law but is not
clearly linked to subsection (a).
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Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued

Examiner comments

Question

Part

e lis eye,gwwu,m Mleiftn bod

1 b'm gﬁb_zpﬁ

Aq A, ubkoe exput @)

f(;.e; /e,éé ﬂu., du.q¢

-%Le.;? ﬂ'«. yiaa.l waux,j C&;_,::{[um teeithoort |

w .(cab.rux_,ﬂouy_ (8) it J'Cl—/-eaJ "M

(6)4 Shee ben Ao tianunt

e vdL.kU- Cupclurs - Stith 7‘/”(/):4/34“
.CL‘_/—CLW Sle .

el eoitled  deery of A ot be

oy to %&@1 jeo Ak Cope  woe

,ffe 7‘(/-4.. (u_,é&oy . eJ /VUM' 4 AM

\/ Lu:/nm E

'/eu./ubu e- 0 /_@4__.4, - =% A .
lhe - HiGe -9 »*bq&w o /M,bun’/oe, e 4
| ey orau_ cttoey ' forty  a  Chasse #p
| e e 44.4_ O'Lb mui&!auo\/ Ol natleer
v | otees Sl J/:e_a/lo o ac g e s
Ylompteicyr,  HKae a_e_,c_/lue/,. /z,a/f 0/’ Ao
‘ lj(-{ﬂq . . ~«

'/_Z.ML’A,% }‘WL W

Qe—;/.fa.qw'ﬂm a%uu,

L ledn  cappl - ogedingf Yo (/MM of
I Her ~dge. . .".oj’: Qmuéacﬁu AJL«_/ Ao
. b N
| e e M M ﬂ(éuw)\pﬂ

| bonilors - puti, @

@ This is rewriting of the source
material which is not needed if the
subsections are simply referenced
accurately.

@ There is no clear link to the
scenario facts to show how this
conclusion has been reached,
although it is valid.

@ Here is another point of
application using the scenario
facts.

0 Here is more application
although it is not linked to relevant

law.

@ This is a valid conclusion.

Mark for (b) = 8 out of 10
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Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued

Question  Part

@
R

vbe . Bieiol ﬂ)’ > ﬁq'a,/ robene

' /i«-e ,éwae,w_fuu.

- u&fw A K oo el

Juney »Aou_xmw /. Hx B

%ur’ _ Probecl fe  ige eral Fle |

dzw i Feiol wo bl & JL\W/:/

O—of 13 CoMiclen g

Colen'.  Cateny; ._,\,,J Guntoite e Aovd |

,67076‘4_1.(_/@ PR M/ba CefPein /!'/l/

oxﬁxa./bz;-

vy O eceoie 7’a/q_ /76“&

- brmlets f téc J‘C\,{MJ e e

990(.&_.»@ a/’ la_e_,&. ] o v bhoe bonin  Catluey

3 Cu_ufﬁbt.:

Ju,é CSeebete s, (‘9 @M ereecle, tye |

L of reald w, ,éwm«,u_ji . e = Case foinh

-olu Te _foerd M/cw,!w;é

LA )

A teeethisns M@AVL

" hel ol been‘ o[’
sy 'y Sloeo il _r/q Seekser £ibe &
C S et a Eene. wm Hene Ko
b beels o bilde sl s,y Mf—v.& v
‘."‘¥«1\/\_-F:L,\..er_,- ,, 4* Lestr X
B P O ST TN - aww,
3 = ¥ st bevieloan

Shentd el Hoe - cerialecs
-+ on, M_leuLoEC Ho D at M Foue
o e biadn hyoltaenhoelal 1 been D preaston. |
VL sl 8la0 ey Y Madine el e
J {.\M .o,[' -FL&.( fie 0" ! IF P, i
o 47 Mo 620 e Yensadiin 4o be \;"V’UJ
e \'ooh'oue foer oy © be  involceR
* SF\M i Ree - Cane ?’f‘ R’V Tawensedy
1 2008 7o . eeas e Ibwd
how.%”* fo e oy o Sivee  Hoae
- BplliC e Bt oleen nol Scb@d?u Hoe Joge
OF' J'-MA-O {'C*-\Jm\ﬂ s ik C!.bl.a Nk -bg_zg

Examiner comments

@ Again, a recap of the facts
which is not necessary and gains

no marks.

@ This is a correct reference to a
valid subsection but it is not linked
clearly to Section 44 to show fully
that the candidate has selected
the most appropriate law.

@ This is good selection of the
most appropriate part of the
source material.

@ The reference to Towmey is not
necessary in this question.
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Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued

Examiner comments
Question  Part o ] t
. Souel MM?@% Cone ™Mentiviag . a0 @There is some application here
Hoe el ola®  wan it b Ny 1 but it is not clear or linked fully to
6ol de . 6 drqesad oS thad of A the relevant law.
‘be..vg -3@‘1!-% @ e o @There is no clear conclusion
i here.
: L I ’ Mark for (c) = 7 out of 10
(el) | JSuries éuh;lh,c /Zo_of beers. - twread ‘
| mere 0f _do e . Canen Thal Fook
1 /b/a,u. owad 007‘2'-49 rmese . éee?l  Abese
Wweég@ Mcme thronh
77«.4 qemo . a5l AM Hecy U-’b/b L) |
o et onl  Jird s cau.fz/cm - Yegorcle'cy
N\ e  verelee b (/sz/w o Upoed Zoth /%
N Fhe . Gl Canes  axsheve /ZU—A/ olirale. »
o R ilofinelep /7“” ﬁ‘M us g @ €D The reference to civil juries
1 ber  Case vl - Hie - tiveacl of Oér-u-eaem is unnecessary given the clear
ldmnes. ane. _atoo Woedd rn f‘ﬂ/ww-«d | direction in the question to
| Caneo  tushenne oy . Oluacly Fe troteet | consider juries in the Crown Court.
L of b tase bey qu/lq br_pot_ pulty . |
@ vt e in o \/éwcout’ o/’ Cbzou-:w{
i %Y s .p,mu,m"- ('aw‘r/-‘
e . ,6cmp,(, o/ A2 . in I fmperiont
et e  dy Fetthlle  Fecodifrastun
an a dweyt ar biro of . sumcl
ool _romal  teolge Yy . | I Chorasbor
g leotlecee! Cper ol e ol oo be @ @This information links to
L. ey dhe D - teetirsed MM ,f;,_b cm—mm/ 1! Magistrates and not juries.
\ iy . if . Hhey ove & mmoéw; of Hee
' r;ru/v) 7. / Ay AM & AM% crirunof
| vesore /WW be JMAM&ﬂf
1

@ This is quite vague and is no
I longer strictly accurate.
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Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued Examiner comments

Question  Part

0 !/wafrj 0. Sit en Jcrry //' he - bas Corrrarlel
MIWW C}fw ooV UJAM‘/(M I[ he it
v bowls . S ma._;!a,a,q ol aLéLLc/ prrnasa
A_a o) gl Le ua #o 7/&4_4 // a9

o \/dbmw GeAu L LA g A bm/ CMM beval
biern _rnaste _cgont fus' pont  bel o
dm:/ mmAM/ Y eenaist of & ,Amwu/( 6/ '
‘17- Ot wq—&-éﬁbeeh ) 'r<z;_wﬁ “ ,b/cu.z
G s, oty har a lostioge Loy

Gy 1 prectiectivg WW %/ Y7174 o _ _
| 25 oé{'rtmcp/f/@ sl @ This is relevant information.

The  SeleHion ,éyocwa o/ a iy i)
| oty ool cveioliy é:ombwléuouz '
epith Hlie — raio Ta:/% J‘cé(a:_/oc/
Thwnt _aae) _be oo / #_(ozaclital
et mfc’\/ veelei ie £ \7‘0 /2. Aﬂun[ Y%
Shay  bdberer  Curiat o X hOdrny enel e
/Mftfw i/ Hesy drve A r/) Hre

: 74:%__,4 Lty rany be. Seleewtiol 4 on
' /éalh/ by /:#oa/ C/?oL%L—? ﬂma the,  oteed!
'dm’zL«q\’/a rz 7 L M ey hano
 beell ot rtesl 7&/90«46&/:7 =y

| vevran~ GV . theone o  dooy i 770/ able
A abtlec @I? o Ared Clue. F0 Gy reoner~
Gkl o0 owiastiaslias Has _he Ve fhe

O S the s dury  Aiodl

@ This is not part of jury selection
in the English legal system.

e ol Aot A(w@/m Jurod | @ This is valid information
vt Hheel tliem cAzLuo_J in  cletar : although it is framed in a very
by vetticg Ml i3 cleee. by polre general way.

# Sl Gl thar  einel  Shactigroud]
o~ o0 /’0/'51,_&0,? a#/’{/ ld.ﬁ—.uﬁl-ééb%?{ it |
/mu—zu, D, """.”%/”‘”‘J A e StEtedd T
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Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued Examiner comments

Question  Part
' _’ P ma_/ m{ﬁenmw e  Seteitii . homﬂ @This is valid information, albeit
| e Y4 - Aam.L Jie  dices - Getei begd  both ‘ of a general nature.

, W o el mrwtu—« e oot |
*‘e_aj ﬁou.xw.) M ’,6;«&'.4_,._,67&4. . Ce}\/,/_. :
ﬁ&v\/ AM CWV&J et in Swotene by,

o /é:.q by - /bc o‘rrau./ L wbwi the,
. M&Zye_ Amd@,; . %baou, / Ay be i @ The use of the word ‘bench’ is
T — V )JJ,,"’J,% iesfnstie | terminology more appropriate to

Magistrates.

e | of . e fundc'c,c('— or M,/,,zm 4 /zu\»{{_
'élt»-——ve_ v‘u-«.,én_,_d it \/goﬂ ,éywu..u{.!-n/ i
a,—s_,cﬂ G&M Cenr . - @AWy O&SCﬁaf)qu
a4 Sak Argy o Ao ?m.m:«/ of A‘c{a ‘
- brao \/tfy /ﬁa,oce, /‘Id/c/ %aaou/—cj/i
N bov' o 75(1/‘"/‘(, O/ St Lay &M(J.
- «_"/ﬂe,‘/ wq/;/ ) S‘Méq A edep  Gith
|- | o H,% ﬁkuq.ux,é—v.x\,/« mew Mnrny'
be Aw v b7 e enel of  Fle '
M o.)/ ﬂ/ iy w/w- "" Sit foy
- */mmc ,o[ it Seelerd bw/b-w Floe

Sprabn . S

@ This paragraph does contain
relevant information on challenge.

Hon o ,4“, q/' /Aur oo Shave _of _
i - 8l oolu_ o % @ This material is general

| Beifoth . e it /A,,,/ ralet, By olecdenn evaluation of juries rather than

1 tn duteste . ouad - powet Coil be ,émmmm w0 | of the selection process and so it

T /ﬁ% " po ,bw,éa, ot | does not attract credit as it is not
A buge el orve S ' | answering the question which has
g legal lewiilinoet, | it etile /(u., lers been posed.

5 v (V4 » B
ol b buZ  loruversy 1‘6«:7 Ca\Q/ be érmurcu_g
i by rmeclea, u?roaf& ey in * 2‘/‘/0!../-4 k,ﬁ sy,
| OIS du-armo_h’l_ t S bien bt bbripl . But
’ L fedse o Lok owenlools. Al ,444/ (220 z
) 7:&4* ermblageel oleesfesn @uenel ety |
I‘
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Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued Examiner comments

Question  Part

it the Qzawm | .z’;aawm@nwbt w @ This is a valid reference
doden Mol #y  loedls ey  Came  uwelirl) although it is not explained.
/ﬁw ' 44-"\-/7 a.  Credern oleesien. ) :

Mark for (d) = 10 out of 20

Total mark awarded =
31 out of 50
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Example Candidate Responses — Paper 2

How the candidate could have improved their answer

+ (@)

There was some relevant law and some application but it lacked detail and precision. The candidate could
have referred clearly to Section 44(1) in the first paragraph rather than a general citation later which was not
linked to Jerome’s offence. It would have been helpful to make a reference to Section 44(3) to reach a specific
conclusion. It was also necessary to link to Section 44(6)(b) as that was the relevant subsection dealing with
jury tampering, as was rumoured to have happened in Jerome’s trial.

The candidate did focus on the correct section of the source material and made use of some relevant law but
the citation was not clear and detailed throughout. There was also valid application but it would have been
helpful to see it linked clearly to the law, particularly in relation to Section 46(2)(b) and (c).

The candidate could have been more precise in their citation and also linked their application more fully to the
law they identified. Not all sections were dealt with but there was some accurate application. It would have
been helpful to see a clear conclusion.

The candidate does gave some accurate information but it is very general in nature, lacking precision and
detail. There was no reference to the Juries Act 1974 or to the basic qualifications needed to be a juror. Some
information was incorrect and some suggests an element of confusion with Magistrates. It would have helped
the candidate if they had focused clearly on the question set and made comments focused on the selection
process.
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Example Candidate Responses — Paper 2

Example Candidate Response — low

Question  Part ] . )

1 a Teron e, Wl on bcdjaﬁ frial - fle ww
Q(qam@) and: bl (00 rumgured  thet ot
hag been Threatered - The  prosecution lgger  apliey

| for Y ~ withouk fury sudger Jet ek v
with _ poice postes pofecticry ', fhe Jurore__wiy
feel _inmidated - USing  HR  crimpay  Jetitt  AcH

{_ Shad discuss Vhw it wit fete- QPF&{ to

| the triad” of  Reom€ .

: for 1he drial 4o -be  onducted
Witheut Ty two condieny are uired
W Ve fuiiled  uder  section .L(L,a@
Yhatk Anal  Ap Le condu el corthoek  Juey
The fiest Gnditlon 15 et Hier? vSl«oy}d}J .

Ibe  evident®  Avad vy awpming  esd  gpowld

' Lol place < Second ?él\c\ix[el’) “1{ that  €ven
with roftce powers Ihtre i5 o liketihood
that  gurq ' famperiag woudd Toke  place  aud
et it it necerserg  forfriey o be
readucted 1o Bhout CIJ Jury 9‘(‘\‘2' [

\eome e udge  feels  tht @ue uit
Fhe profection O ke polrce The gy Qi

peel infimideted  Theetoce,  fulgiiing  fhe  Iecond|
‘/o;\&t fien 4 - dhe Crimthac ‘&F,H(Q ek Secten
LA - ,\‘\Q\QGVQV" for e tive tenditeon  Fhe
Judlee and  phe prosetudien  fuger * d0nt  haoe
aag A} evidete weanst  fie  Jwior, fhej/
)«c&;)e e Tewr d fumecs hich ok BE
L lies  fhas not  exaddly (<SG the  prest

. - ' </
eondition - ;

& Onder Seqiion Hbasw Seckony

11 appli&  ohere A4 Judge {1 moded
beCquse he. feels WY teopceing Aot
Jaken  plae -\USx‘\f\S s _gecheon ’r}{)e Judge  for ‘

Examiner comments

ﬂ This paragraph is repeating
the facts which does not gain any
marks.

e Here the candidate has
selected the correct section from
the source material.

e Here the candidate refers to
the relevant sections but does not
cite the source of the law, which is
Section 44(5).

e Here there is some valid
application using the scenario
facts but it is not clearly linked to
relevant law.

e This section is not relevant as it
only deals with the discharge of a
jury once a trial has started, which
is not the case for Jerome.
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Example Candidate Response - low, continued

Example Candidate Responses — Paper 2

Examiner comments

Question  Part

Tecome Ga  hed a ddal  eitheuk

& luey becea® he feels  Jheln  Jury
+umr£&f(an hag Jauken vlace - Blo underJ

Lu\fset{fa’) kY G fwe act e Juclpe

ui heewe do___ conrider H‘ P wed  Je
e do  both  the deceaclant _cemf. or

deerardlanes '

1 Cong Luston e jedlqe for

Teome'c e @n bolel o " Addal. jptbhecy

ey SO v} AUE an  the  @ditien:
' unolér Seckign  uk g wiso e onddtiog

under cectionn  A6. T e pee eenditiovi

an_ be  qedffil  fofived by e we g

\(Taers gnd 'iz,,a; being - gble fa ho tf

a Artetd withogk 3{,\, Also e ccyee e Ther_is some relevant

0 R\ Toosey mo(cj( o va hed gt application.

Onee The condirons o yecton  HY  arp o .

&@H”-«/ried fhe T, g;ms is a valid link to a relevant
o Juy®The care @ Jduor  Jecome O oo '

ek ol _dhe  condion chade Ly ecto 4l || @ athough the candidate has not
g @ Jie tre  C&a " bopeen  wtheud o explored all the relevant law, they
Juror have reached a conclusion.

Mark for (a) = 6 out of 10
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Example Candidate Responses — Paper 2

Example Candidate Response - low, continued

Question  Part

Examiner comments

T b 4- redd e {5 detng qried  fer a dhicd
g fof obbtue ECut (¢ fhe T WO perw‘O‘-U
Aol © Collegprech. - JTFe_ 1udge {—ES{{Z%} d nai-@
_Gugirg bt the. Juree i by been ' ‘\,‘QWW\
&.’D\J’;EJ not o {enwi o fredldée . Tre jud\?f’
@b fhe  lmyerr  dud  delr  flew g i
holdlng @ el _gotthoat Juy  and  feerm't give «
rragon and onuiels __fedtio. ring Jkere
lpacth 4 chadl we  fe  oinnal  ubtce © This paragraph is a rewriting
At ol dee oo W aylie be  fredd® Q_; of the facts which does not gain
Get fon 46 of e Crimince | - | marks.
s iéce Act  Mainly apelier o freddees @ The candidate has selected the
(ase - Qb gecllon 7 6 ke ack  aglies correct part of the source material
becaure the Juclee ce cetved te  pole in relation to the scenario facts.
A%}wj Juerr L;ue Lieen gven  Lago  bo
not ~ cony(ct 7“?69‘%’ e dhe  Jedlen  regtirer
A Judge s ke minded  brcceare iy
| ampecing appEder P have fctan .pi&(é'
Abus 1 lbG | g ke Fekdrement @ Tt juclop m This is valid application of
alice _c';m‘r,;({ﬂ Sub &é“m = yhich ot S_ection 46(1) although (b) is not
et gor o Juelye to leldd o }wq without cited.
Fial bp s ~Safisfied hat Ii@: tam pevrny,
hay e leen place . ang that jo ontinge
e elecd itkeut ¢ 4y (ouwd,__ e =
pair Ao (LS Qependett,  or dependants _The
= ' , This is valid application of
ludge  for  Fredber cwe  sfly rﬂ“@" ?ection 46(3) altﬁgugh the text is
ire rote Yooy g ded ok weddd rewritten, which is not necessary.
Ye fedr kov Ve dCrendt and  dxpendaadts
Yo rendwdk 4 gt witheug Juy_.
How€€r, (kb @~ be cireced foat
whyf Ahe \ud\‘qe gor Free el vy
met  palr _and  Unceesonable.  Section . kg ()
gegicec et Aie  pdie we  infaved
I
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Example Candidate Response - low, continued

Queéstion  Part

Example Candidate Responses — Paper 2

Examiner comments

he It minded Ao dixchqs;e ke \)u\aj . inferng

fe fparhiet 0 dhe  qroundi  en whe<l, he

S0 Mndee] ané{ uy low Fhe Pacicer an

ofeerhunty ke mak?  repreeatabes - [udgp

for_feeddiey e does Inporm pectes ]

lewyerr dhat e she i dism £ yitvy fhe ’

X 005 oo She doesn 'k State her S UV

and QWO doesp W gl A albe thea

to MR desiely  representution Thyr TR avicTin

eud ke appedect wing __ RCion  HE (S . @ There is valid application of

= P ~ Tecdrer ohut ohton oudd | Section 46(2)_but it is not clea_rly
X broken down into the subsections

\be  dgued  bd i ir  Veld  becwde . the Ll and they are not cited.
Ceyudremeants e (obilved - Tt an a\r;‘t@d

e dhe  Jwlee  Jdint  allw  thew [

any prerantattion an<d evel fhe  (ealp  ctida'
N el frem the fegcon  do cfn mirdyg

e Jaray - Rat 1he fe?/uifemmf; );z/ other

[advection o ®

- e rled and oo @

it - i1 Yokl -

@ The conclusion does not match

the law which has been applied.

Mark for (b) = 4 out of 10
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Example Candidate Response - low, continued

Question  Part

1.1 ¢ J‘,c(d uq Second drted

Kexe Yt ney
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1 ter lﬁa«(eri'/lq with oo f\(.wj an

Tee J@Jﬂ
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an e - .
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T Qonclus for Jue
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Examiner Comments

@ This is simply rewriting the
facts and does not gain credit.

@ Here the candidate has
selected the correct part of the
source material.

@ The candidate identifies the
key issue but does not link to the
relevant law, which is (b).

@ Accurate application of the law
to the scenario facts here.

@ More application but without
clear citation.

@ This is a logical and valid
conclusion.

Mark for (c) = 7 out of 10
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Example Candidate Response - low, continued

Example Candidate Responses — Paper 2

Examiner comments

Question  Part
1 |4 CTaie af eded  dnovh  a loneg
PIOCEES bk " ercer ke > be @ (w:r |
h fﬂ\e\(} . e reguisanents d hase & pap
{ qrder ty St ¥ Jwoe. I cratl
ol wbout - the =electgen procars  tmof
He -9 L(cclt’,é:‘cqf(pn I Plg’u;‘-l/ et/ 1o le @
}(,(_fO(‘ . )
Clav 4wy o Wil e Telethon  groees. |
Throwh an electoonls  rachwe  namer  ace (awdouly
jeled e and —T\rie@‘ are daben  cyppse 93 '
Showw w o ceyrt for futher  relechen ﬁ @ It would have been helpful to
Boat Do prop@ il ceeted  geam (he deal with basic qualifications for
electro machine Ay hf) ’(bcy (<GS '1n Cowrk selection here.
qnolher random) calt out o4 bame, U
enducted ey dirc be Mde (g ey aup
lovg  proMem  with Seeptng W Juy  ord  Teg
\t(\d\{]f well ool &t the booe (hs‘cr;unc( cL
Kt PerTon and. Qs o dectde 7(4; Thegy
have gen g Vel FSYWON g -nok ¢
letng able to Serve @ a ursr. @ This seems to be a reference
Sl e Aup 12 Awort hewe  Lleen to vetting but it is not clear or
e lectep Fhey e e o ddte o detailed.
eme. to tewrt  and . \irtew Yo ’(?\é ‘ At |
qu procerc [B) do poata, raafonany Ny
4 1) Ceisur e {uct b 'H«dlfél b ro ’queol'
e Jweg . @ This seems to link back to
U b ok He Yuadey peckon gy the original process of random
4 wer. You bae  to be | atow Jle selection.
age o  (8ou  kae  fo  be e ¢ ang @ It would have been helpful to
(\'fiw\?@ - Yot haoe  fe have a0 o ’ include the upper age limit and to
chaunfl  lgad sle o ™Mad fof _wore  dhen reference relevant statute law.
2 gao fce (enniag_ die 9e 0 13
Yoo lbaw 45 hewe 6ol been e nvickd 10
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Example Candidate Response - low, continued

Question  Part

{le part Jue Yewer r have Served
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The  Jug is bolemeel ad  fadr  ond o
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Examiner comments

@ This section lacks focused
detail.

@ This is out of date.

@ This would have been a good
place to deal with discretionary
excusal.

@ This is the only evaluative
comment in the response.

Mark for (d) = 7 out of 20

Total mark awarded =
24 out of 50
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Example Candidate Responses — Paper 2

How the candidate could have improved their answer

* (a) The candidate could have been more specific in the citation of the law they referred to and they needed to
cover all the issues, such as the category of the offence and who was making the application to the judge.

* (b) The candidate was vague in their application and much of the law was rewritten but without focusing on the key
sections and subsections. The candidate’s conclusion did not match their reasoning and there were several
other issues which they needed to discuss, such as the nature of Freddie’s offence.

* (c) There were more areas of law the candidate needed to cover but they did focus on the key issue and there
was good application using the scenario facts to reach a valid conclusion.

* (d) The candidate demonstrated only basic knowledge and their response lacks detail. It did not cover issues such
as challenge and was vague on excusal. There was only one evaluative comment and more was needed to
move up the mark bands.

Common mistakes candidates made in this question
* In the scenario questions, the most common mistakes were rewriting sections of the source material when
accurate citation would be sufficient and rewriting the scenario facts, which uses time but gains no marks.

* In the essay question, the most common mistakes were not reading the question carefully enough to focus on
juries in the Crown Court, not including detailed and accurate factual information and writing evaluation of juries as
a whole rather than focusing on what was required by the question, which was the selection process.
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Question 2

Example Candidate Response - high Examiner comments

Question  Part.

2 A Wae. dsexnvne =R ?CC%QA.@W'X‘ =N \oex%—éé\
e Rew  LoXWN XX et i S xSSe :
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Ao s YR iveXice  cman \Eold e

IBomn  See e mﬂ&gy_\g}@s_ : i e A historical approach is
N . ) :
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e Vense % Lavds  ond) QQBW- ‘ this.

(VSR de<e k:awr\c& \D(.:) R S - 2 A
QeSS | exand W wses e £ Ob\w
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Example Candidate Response - high, continued Examiner comments

Question  Part

or metied:So o Poon cahsn DA e —~ e Here the candidate is

e X L Mme ose A el Al evaluating the role of t_he House of
e e cind Sgenss pordsSupreme Coutn s o
CosolN usese vetr oounrd o Veele '

Ac s Honeensex | W~ Yoousiisa,
X CovA S mRoas Pe _oSed
220 e X\ - Q ' . o The candidate is brief on what
‘ - | | the Practice Statement actually

allowed the House of Lords to do
and why.

T SYNalN Lol\veaoni cose voos,
NTSC AR & ooy Ko %&c  Dosn\ere ola
PN . é)-»\x_k—g,\ o e K reax e
‘(\705\("\6\&“;& e H*—\i‘\?as&m e 2~
SULNERCY eme eneStodben s Aancto 0
{ {Z\\g.v\ o aon o-\’é(\c\,ke:)\f\‘\'\f\ g N V—.
oS \W\N«\)o‘%/&‘-\\o\g XD Lo tAvU Y A sAa—e O
weeS e SoasenKon b e v e
coSeeN @S2 @ﬁc\w\'\.&\)\e{\ = ooV—=ice Aol
IR esose o3 LeasAs S lennne Koot
D\(G“[‘Q_d o \oe  SReAVo Y G
Tevese Cad) AOS-A:‘“—Q =e.cx M\e\'w%*v—ss/

e Relevant examples support
the comment on the approach to
precedent taken by the House of
Lords/Supreme Court.

e [\’Dwe Ce=so S D= R s
bouwind. \’Dv\ T Ao SSASN e.,-r\d*\—\/\o.x\
LI ()‘/\e,\)-l\o\p\ TR o N @cagA TN

s STV A @ DN MV\Q

<o ol ec-Wé\_—‘\ﬂo\f\g\t\_K e~ o’—'\— \__c'\'o\Q
e Svglesmme  Cow (A voese e
AV Ao adsasvg | ustess Ao Pco\céte
StoNerrme sl e be. osS<d A
.cf\whm SN e Meor=(S oo’
md@ Whe A feeno—= A, =X ouCe

£ 2 N =la rwc&\—‘ks\qs‘}\ w2\ R XX <coun
Ve os<e d . oven A e od Sug A

G This is a valid comment
although not strictly linked to the
House of Lords/Supreme Court.
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Example Candidate Response - high, continued Examiner comments

Question  Part

erecmwxfwﬂ a2 ceas~ e |
Come S TASX Uy e SR esnd
e ST AL B oS Ci i Mma L TSR
coense o wanle  Sosvwssd o
R N o)\ S PPN Yo 5“{ v —XT o O aﬁ@:\‘:\/\\;\—
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‘ a good illustration of how the

House of Lords/Supreme Court
developed precedent effectively.
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e o € oz e oSN € Mﬁxd&}(\«\g
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Qetrvec > o T N P |
;\)03\9«-5:%3 2 M= uoo-s ?Q\co&ﬁt@-

Q Here the candidate uses House

,_ - of Lords cases that reflect their
Dosese Roaihy, dem dockne ot evaluative point about changing

bce ¢ o Sai XS NRXLG 2 Se o X o Mg social conditions.
o e M so  SheSomarasal T Yesa poS~wn b
o NEEE S VAT R = G U W \T\Wd' @‘(d“\h\m ‘

X
e Peadire Thodronmrars S von(’
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Example Candidate Response - high, continued

Examiner comments

Question  Part

oSe=d \fcfx:\j SN, o Suersye,
Lok 1a” oovood ooy WS Svon
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XD =X A\ Cmme D

posson co=fe
A\

cos? €%, T woesvo

oe_ ,‘,e_x“\v\\) Fivnae - cavio il g S~

‘q?@y\g‘va . @ Here are some valid comments
‘ on the shortcomings of the

House of Lords/Supreme Court

N\ SooSesr~. CsoCTNT e, louas o oo . P .

1 N % A ot o and an evaluative comparison
[romee o YRS 0 A S e Wi TS, between theory and practice.
(iv"(‘.tgp_j;sa_v\)v =GR B WS W C. IR L \IQ)S\:\)

« S o c ¥WR . HeanideNe S\ e o e

N P A N N N N S N T e
TResvee =R Lo<ds o2 ond S0 eSerng
CovlX +» Deogarxt Stown IER dedsEny
1S ves=d “'d\‘s &W\\ﬁ\ﬂi‘ Sn b\\ﬁu\"\?ﬁw\x

N VAV QM@.‘S__%&_ AN W
=S S)\D%#“Qh @

@ This is a valid conclusion.

Mark for (d) = 16 out of 20
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Example Candidate Response - high, continued

Examiner comments

Question

‘Part
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m This paragraph is not
necessary as it simply rewrites the
question in different words.

@ Here the candidate picks out
two relevant pieces of source
material although at this point,
they are not linked to the scenario
facts.

@ They do the same thing here
although the reference to Section
3(1)(3) is very general.
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Example Candidate Response - high, continued Examiner comments

Question  Part

\oo-d Wr@?\’(\\/\m Ov~ed o o ’v\r\q
Ree (Mise Qice < Kamn %;ﬁ_chv_%@s\_’ﬂ_m_

-

eXe aeX cernSiche e e g | @ Here there is application of
"""""""" - ‘ Section 3(1)(2).

\\ﬁ_égﬁ?x___m&*\__@/\ R~ 5 SS= A ORI T
ej«/\)< M\&A edcesed B a X \rmsc

edsean s m/\‘t% = =8 o%um_m_

deddang Tredx Loefe JM&\Q \og\ o)

<ol \{ ex W\&o\,\@ Nt o e aadend @ Here there is application of
e Lo\l\\"\v-&é 5w qm vo\r\.t_\q | Section 3(1)(3) although it is

: eneral.
AR Y- vg&l_\w s - N ' g

Ve SaaSNe & bedoce ook\erm ,

AN~ cea ,.,\,\\‘—c_v\a_a_,\/\s\—§ .,.SC,A \,-\c,.J(_ . @ H.ere there is application of
M\—e—x—gé. N Ve f‘%{q@g_ — m Section 3(1)(4)

e Seo B

@ Here there is application of
Section 3(1)(7).

Civmes o, VeXex erceodod e Ulrot o
Ten QemeSs on ™o aooglcosiony ;) avd :
VD Ve 2 A Ve pass Cecd XD
Ccad awmd Mow Fos S5 sot oad
Des Teon 2 Mee . agel Soadiemn docnwende |
e Topoemnn  Sowe X oat\\ ST
eocie T XANND o ®Qe o) R polieodRevd
P comrod ve  avesidad 1§ Qeghvs
Q(‘—e{o._f\\l\s\ AN Aowt.\/\k Cadex o lo-
e xRS (L—raa/\'\'\“ osd _ SyNewe d

R A c:)w&&w&n

@ The candidate ends with a valid
conclusion.

Mark for (a) = 8 out of 10
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Example Candidate Response - high, continued Examiner comments

Question  Part ] )
2 1P Nea smos, e =% Vos, weshe xR

’ A—aX Rokvesk o c&‘b%eod\\/‘v\mb S
Seprenme Coarmon st oot e SRl AW
e \re. oy | ossWes ) e ot =%
o= Qeo\/\%k(\!\ vl %*\é\*a M ""\’\"“S\Q
 "¢‘\\§\/“§> A~y &og\ cssdr\@fv\ e tol=n> .
W =X oSarneNnd to S e sOTS oard |
lis (\;cgeo\c&f; €B _ceo  \nSwus A% TS

Ao i e A @ @ This paragraph is not needed
‘ to gain marks.

e X =ec oy 22N =X Sieg
'é\’g(m CouTic CCoacd\ mg /) c e,
Mese. agell sewsdemn  Xope e R v S e
hw) DD@Q e 02 oo od kn odordD
Aose \-c9<—‘< s Ceeen \S poass _\e.v\Q\
Sar=d TN \mx\r\ \'\Q
D e T A S e s S S o—¥ s

Qw\\wwi@ 1. -
o gec)ns‘v\ 2( \\ (-\\ @ ‘ @ As before the candidate picks

out relevant sections of the source

LETR TR DN LE“\%E S D c\k Ny WRe<es R .| material.
=~ L - !

QR NS0 M= X 5 0e€38n Ladndaeq)
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=C VWS cdaona s D XKoo, Ti—= o\?\al\&— |
AT - (\7(,6:&\!\3«%_)5)‘%4 ) &_Q(%Q_Q\)\ g‘(\b‘u\kd
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X A= &

@ They do the same thing here
‘ although they state rather than
. cite Section 3(1)(5).
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Example Candidate Response - high, continued Examiner comments

Question  Part

A Sovexk Soaw. WNeespd Newon Mee
|GsazaiTa, oncd Shre Wany ek edeen, |
A 2oy ek Yeed L\
A_%\?—&M)M) WA Y aconSaoX € .a\is
A\x EoResS ofe oowond enn KWe =S
v Diree on~d aace X 200 e

s mre o S s W< | | @ Valid application of the two
J— e Mt e e \ \Dg\ : relevant issues in Section 3(1)(2).
) : b Ak enfe  owSenE @ Here is application of Section
Roe frtqé\,\a_& a\?@ﬁwaoh LN N— ; 3(1)(4).

E:&?ﬁ &-\ily\& e it TSR ‘ @ Here is application of Section

MeeBiorsag Meek Resos, oo oQpaelin '? 3(1)(7). PP
mﬂuv\%}‘ —eNE e W w@ N

A~ Aoes AV Sa A~ -

@ Here is application of Section

ROl LMo = G\Q?gw o N\ 3(1)(5)_

T T
oA e CropmCesmronhS WMeoshReity ‘
los— \res Coleno = Ree QLI =T
R s, Leann = N oo VAL e
fRConsASes  ASIT=c X Nan - ‘601?@\:\&
CeoX X o\ cec o 2ol T =
Spe\_co RS\ - '

@ Here is a clear and valid
conclusion based on the
candidate’s application of the
scenario facts.

Mark for (b) = 8 out of 10
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Example Candidate Response - high, continued Examiner comments

Question  Part.

2 [ 3 L PN G NN = Qb\‘m_\\"ﬁ'(\ (‘qepte&w\'k&
ARc sV eosie s St o moe_a_\xﬁ,d
"\vz, AR—a %m?(\-?—)“/\Qa ComwTX o VM=o
de XS \oedie v Noedd Adng Lessaos

I N SN MRS A NSNS A ’t\z\o\m\é.k&\m
CoXedn v o s ko oo vinoes Q\LQ\(\@ @As before, this paragraph is not
' needed.

Dvresdes  Secasdsa 2 (1) () e Ceec
Dicec Nony = omareh,  Siveade oo eeOM o
PP = PR S~y @;._J(_b__;;_g_g >9=a< ARy b—(
(en=iSDor—ed Lo e \@M =2 NvsixoeRy
Ceextea 2 (A evd secoian D
WD sXxoxe WX e AeocownSny
NS A oe A NN Comean =R~ oun I
s ?O\K\?OA PN R wxé\k LA S\ o R
B Cocce e ASSu=n e N Xe c)&w-‘
1S No Cues o 5':‘_\_%—_@____,_ e\ SerTioa |
R -k\riQ e ¢ 9 XNR > X —w? SRS S
ol o \oe  sodommithe o :

@ The candidate picks out
several relevant sections of the
source material.

AN e C\’P’Q SIIPINE =NPONI . @W\'\Q%._sm__tl@__
oRRaad ca s =Rafencg, k= O Cowt\o
eX Nossdca S Reo V——oxc«{{_o\v\ K)v\“‘w’,
Y e s e M\’\\ sdhoX—=dA
Mee _Aocuansoink ss, M’\’K\W\Q& N
e R 2 (A2 T o elicon SiaN !
SARSA \pe %\ozuu.a i, Fho oceedeued |
=C NS a.o\,\u/\t =N W”@ LAY
Tedane 2 L\\lb\'\ @

@ Here they identify the
remaining relevant sections of the
source material.

TN~ ar—N o chamat heve Sas WO\
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' W '
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Example Candidate Response - high, continued Examiner comments

Question

Part

<>\$l KRes Soox oS tho SDeuuwnosnd
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CleATSs o\

o o8\ c_s—?‘\-e‘v\ PN e W
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\-\/\L,,_L_@v?'\— s‘\— A=At = ¢5X Y

Ss Sess Ay o oo\, "(\/\':—-\ A WSS JENN

@Qm/@v\&,qex‘ax ~'<\}_L MO\\MW vssyy |
»av\bs) oSl e Lo bu =2 \“ SN Sen @

Eles  oord  ARC  Tdrmeen s Vel

oan ISxver LW Aade o eeW conkieny

\oe)'..v\a) O\C-Q-Qg"(‘—ié\ oS o\m:\m}?)x,\ L

SN A a3 Nee ¢ -e.,ce\}\_)—3 C e~k X

an A__consiSAt=d % odd s nec=saath

2o S e an X S N~ oo, ousdug

leess s e d \D\i\X 2.

W Ve, }aoMJ‘Q =>

. —
AR Oy € s NS SusAidey

@ Here is application of Section
3(1)(2).

@ Here is general application of
Section 3(1)(3).

@ Here is application of Section
3(1)(7).

@ Here is application of Section
3(1)(4).

@ Here is more application of
Section 3(1)(3), although they do
not link clearly to (c).

@ Here is application of
Section 3(1)(1) although with
what appears to be a factual
inaccuracy.

@ Here there is clear application
of the law to the scenario facts to
reach a valid conclusion.

Mark for (c) = 8 out of 10

Total mark awarded =
40 out of 50

41
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How the candidate could have improved their answer

(d)

This answer was set in the clear context of stare decisis and showed how the House of Lords used to operate
before describing the effect of the Practice Statement. To improve the answer, it would have been helpful to
see material clearly focused on the Supreme Court as well. There was a good balance of knowledge and
evaluation although more recent citation would have supported greater range and depth of evaluation. Note
that it is entirely legitimate to answer the questions in a different order.

Although the candidate identifies all the relevant sections of the source material it would have helped to identify
(b) in Section 3(1)(3) and link it clearly to the scenario facts. The application was quite general; it would have
been beneficial to state the law in each section and then apply it before moving on. There was a clear and valid
conclusion.

Once again, the candidate identified the relevant sections of the source material, although it would have
been helpful to be clear in their citation of Section 3(1)(5). The law was applied although identifying and then
applying each section in turn would produce a stronger and more coherent answer.

The candidate used the same technique as before. To improve their answer there could have been clear
citation of Section 3(1)(3)(c) and more detail on the reasons why this section might have been problematic in
the context of the overall application. There was a clear conclusion based on Section 3(1)(1).
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Example Candidate Response — middle Examiner comments

Question  Part
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e Here the candidate identifies
and then accurately applies
the relevant aspects of Section
3(1)(2).

43 Cambridge International AS & A Level Law 9084



Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued

Examiner comments

Question  Part
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e Here there is accurate
identification of Section
3(1)(3) with some valid application
although it is not linked clearly to

(b).

o There is some law here and
some application of the law to the
scenario facts leading to a general
conclusion.

Mark for (a) = 6 out of 10

e As before, this paragraph is
simply rewriting the material in the
question.

@ This paragraph identifies
and applies relevant aspects of
Section 3(1)(2), although it does
not refer to Robert’s application
and subsequent improvement as
the Practice Direction allows.
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Example Candidate Response — middle, continued Examiner comments

Question  Part
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N “F‘e""“\ﬁ"" wk o to the scenario facts.
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valid and clear conclusion.

@ Here is valid identification and
application of Section 3(1)(7).

Mark for (b) = 7 out of 10
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Example Candidate Response — middle, continued

Examiner comments

Question  Part*
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@ The candidate rewrites the
scenario but this does not gain
marks.

@ Here the candidate clearly
identifies Section 3(1)(3)(c) and
there is some application although
they do not pick up on the
potential issue that the application
contains irrelevant and unhelpful
material.
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Example Candidate Response — middle, continued Examiner comments

Question  Part
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Mark for (c) = 7 out of 10
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Example Candidate Response — middle, continued Examiner comments
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Example Candidate Response — middle, continued Examiner comments
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Example Candidate Response — middle, continued Examiner comments

Question  Part
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role in developing precedent.

v
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@ This is a valid conclusion.

Mark for (d) = 12 out of 20

Total mark awarded =
32 out of 50
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How the candidate could have improved their answer

* (a) The candidate could have improved their answer by citing and applying more relevant sections of the source
material. The answer also lacked depth as it is not specific in its citation of Section 3(1)(3)(b). The conclusion
was rather speculative and lacks clarity.

» (b) The candidate did not cover all the relevant law as there was no reference to, or application of, Section 3(1)(4)
Some of the application was not linked to the most appropriate law. In this instance, the conclusion was clear
and valid on their application of the scenario facts.

* (c) The candidate was clear in most of their identification and application, especially in relation to Section 3(1)
(3)(c), but they omitted Section 3(1)(4) and lacked clarity in their application of Section 3(1)(1) and so the
conclusion is rather vague.

* (d) The candidate gave relevant material on the role of the House of Lords along with some evaluation on the
impact of the Practice Statement and the range of areas in which the law has been developed through
precedent. To improve the answer, there needed to be a clear focus on the Supreme Court, as identified by the
question, and some evaluation of their role since their creation.
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Example Candidate Response — low
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Examiner comments

0 Here is some valid identification
and application of Section 3(1)(2).

e The candidate does cite
Section 3(1)(3) but seems
confused in their application.

e This is a reference to Section
3(1)(7) although it is not cited.

This goes back to Section
3(1)(2) but is not relevant to the
scenario facts.

e This is a very simple conclusion
and not clearly supported by
evidence.

Mark for (a) = 5 out of 10
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Example Candidate Response —

Question  Pait

low, continued

Example Candidate Responses — Paper 2

Examiner comments
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@ This links back to the earlier
discussion on Section 3(1)(2).
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Example Candidate Response - low, continued

Question

Part

Examiner comments
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application of Section 3(1)(4).

@ Here is identification and
application of Section 3(1)(2).

@ Here is identification and
application of Section 3(1)(7).
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Example Candidate Response - low, continued

Question

Part

Example Candidate Responses — Paper 2

Examiner comments
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sentence.

Mark for (c) = 6 out of 10
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Example Candidate Response - low, continued
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Examiner comments

@ Here is some useful context
with a clear statement about the
place of the House of Lords/
Supreme Court in the court
structure and a definition of stare
decisis.

@ This section is not focused on
the role of the House of Lords/
Supreme Court as directed by the
question.
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Example Candidate Response - low, continued

Question  Part

Example Candidate Responses — Paper 2

Examiner comments
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Example Candidate Response —

Question  Part

low, continued
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Examiner comments

@ These comments are general
and not linked to the House of
Lords/Supreme Court.

@ These cases have the potential
to be valid examples but they are
not developed or linked to the
House of Lords/Supreme Court.

@ The candidate seems unsure
how persuasive precedent works.

Cambridge International AS & A Level Law 9084

58




Example Candidate Response —

Question
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low, continued

Example Candidate Responses — Paper 2

Examiner comments
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Example Candidate Response —

Question  Part

low, continued
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Examiner comments

@ This is a basic evaluative
comment.

@ This is an unnecessary
diversion into sentencing.
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low, continued

Example Candidate Responses — Paper 2

Examiner comments
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[ I @ This paragraph provides a
summary on the role of the
House of Lords/Supreme Court.
Mark for (d) = 8 out of 10
Total mark awarded =
23 out of 50
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How the candidate could have improved their answer

+ (@)

The candidate did include some relevant law but there were Sections missing. Citation was not always in
evidence and it would have helped the candidate if their application of law had been clearer and more tightly
focused on the relevant sections.

The candidate was rather repetitive in their answer and better planning would have been helpful. Several
Sections of the source material were missing and those which were applied were often not cited. Fine detail
was lacking and the application was very general and lacking in conviction, as was the conclusion.

The candidate identified most of the relevant areas of law in the source material and there was some clearer
application. It would have helped to focus more on issues in the scenario facts, such as the detail in Section
3(1)(3)(c) and the impact of the incorrect number of judges in Section 3(1)(1). It would also have been helpful
to have a conclusion.

The candidate covered some very general material relating to the basic principles of precedent and how
the House of Lords/Supreme Court fits into the hierarchical structure. There were a few relevant examples
but it would have been helpful to have more detailed information on the cases used in relation to precedent
development. A much tighter focus on the question would have been beneficial, for example, with clear
references to the Supreme Court and the Practice Statement, to give more depth to some rather general
evaluative remarks. The answer would also have benefited from better planning and a logical structure.

Common mistakes candidates made in this question

* In the scenario questions, better planning would have helped candidates deal with only the issues pertinent to each
different scenario and so not lose time by considering irrelevant issues. Great detail in some instances, such as the
citation and application of subsections where relevant, would also have been helpful.

* In the essay question the most common mistake was not reading the question carefully enough; many candidates
dealt with precedent as a whole and did not focus on the particular courts specified in the question. There was
very little reference to the role of the Supreme Court and often essays were a historical journey through the
development of the role of the House of Lords accompanied by some general advantages and disadvantages.
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